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HIH : 2022484 H17H (H) A RTIR R—A 77— (50m)

No. 61 Z&+¥ 100m BEH* BALL—R R A 101161

L BYIL—TF >

EhI K 4 T B FE KK i 50m
1 HR B J—XAC /N4 1/ 2 1:26.78 41.29 5% ( 0.66)
2 AR pkE KSCTH /N4 1/ 3 1:31. 34 4419 4%% ( 0.91)

No. 62 BBF 100m EH BALL—R R A 1:10.55

L BYIL—TF >

B K 4 T & 2E KK B 50m
1 AR Gk T AT 44 M4 1/ 5 1:22. 21 39.01 68k ( 0.69)
2 LR i TANRT 44 M 1/ 7 1:33.04 43.43 3% ( 0.82)
3 VHE A J—XAC /N4 1/ 6 1:34. 47 45. 44 Lk ( 0.84)

No. 63 Z+ 100m EHHE RALL—R R ARFEH  1:04.06

L CHNL—7 >

B K 4 T & 2E KK i 50m
1 AR 21 TANF oA /6 2/ 5 1:09.34 32.73 8% ( 0.76)
2 EHP IR KSCTH NG 2/ 4 1:09.70 32.75 8k ( 0.74)
3 i FhZE T AT 4 A /)6 2/ 3 1:10. 49 33.49  8#k ( 0.73)
4 PR Tk J—XAC NG 2/ 2 1:11.63 33.97  T#k ( 0.78)
5 IER 64 TANT 4 A N6 1/ 5 1:15.69 35.18  6%% ( 0.76)
6 )l &L BkED NG 2/ 6 1:15.93 3571 6%k ( 0.75)
7 )IHE LA J—ZXAC NG 2/ 7 1:17.27 34.82 5%k ( 0.87)
8 EH =] J—XAC NG 1/ 6 1:22.84 38.29 3%k ( 0.91)
9 HAMESCE KSCTH NG 1/ 4 1:23.60 39.48 3%k ( 0.98)
10 % BE KSCTH /NG 1/ 3 1:25.60 *F®  41.60 2% ( 1.23)
11 ik e KSCTH /NG 1/ 2 1:26. 27 41.39  4#% ( 0.67)

No. 64 B+ 100m BHE# A L L— R R 25 % 1:01.07

L CHIL—T >

Bf. KK 4 & 2E KK i 50m
1 KRHE HHE TZNRT 4 A N6 1/ 4 1:05.59 31.01 9%k ( 0.63)
2 bl JEUK KSCHF~X /|6 1/ 5 1:07.48 32.07 8k ( 0.65)
3 —J FHEAH KSCTH /NG 1/ 3 1:13.46 34.26 8%k ( 0.71)
4 W PR TANT A N 1/ 6 1:29.94 42.51  2#% ( 0.73)

No. 65 Z¥ 100m EHHE BALL—R R AREHK 59. 86

L DIIL—TF >

B K 4 ir B 2E KK = 50m
1 SFAR Bk T AT oA 3 3/ 4 1:00. 99 29.69 9%k ( 0.69)
2 KR HE KSCTH 13 3/ 5 1:03. 39 30.50  8#% ( 0.69)
3 K e KSCTH 12 3/ 2 1:07.13 32.35  T#k ( 0.81)
4 H VbR KSC#%+~X H1 3/ 6 1:08.50 34.50  T#k ( 0.68)
5 kb &+ KSC#%F}~X 3 3/ 3 1:08. 67 32.76 6%k ( 0.69)
6 B i KSCTH 1] 3/ 1 1:09.17 33.25  T#k ( 0.64)
7T PHEEHIE J—XAC 13 3/ 7 1:09. 31 33.24 5k ( 0.69)
8 [N & 1 T AT 4 A 2 2/ 4 1:09. 61 33.12 6k ( 0.77)
9 EifE {3 KSC#F-~ 1 1/ 6 1:10. 47 33.65  T#k ( 0.69)
10 £ - 1BE KSCTH 13 2/ 2 1:10. 91 33.68  5%% ( 0.67)
11 F2 e BRBLY H2 2/ 5 1:10. 92 33.82 5k ( 0.69)
12 P  BE J—ZXAC 13 2/ 3 1:10.93 3.94 5% ( 0.80)
13 JEK e KSC#ERE)II  H1 2/ 1 1:11. 43 34.15  6#% ( 0.76)
14 B A KSC#+~ i1 1/ 4 1:12.28 33.88  6f% ( 0.60)
15 JiH IEE BkED H2 1/ 5 1:12. 43 36.01 5% ( 0.91)

HAOBRME . 4H17TH 14:22
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HIH : 2022484 H17H (H) A RTIR R—A 77— (50m)

No. 65 Z+¥ 100m BH# BALL—R R AREH 99. 86

LKL DINL—T >

EhI K 4 T B 2E KE B 50m
16 JIJH G+ BkED 1l 1/ 3 1:13.16 *F® 3554 68 ( 0.80)
17 FE EE J—XAC M 2/ 6 1:14.01 35.39 5% ( 0.79)
18 HA H=E J—ZXAC M1 1/ 2 1:15.23 37.97  4%% ( 0.81)

No. 66 5=F 100m EHHEf BALL—RR KEEE 5542

L DIGIL—T >

B K 4 T & 2E KK i 50m
1 R il T AT 44 Hi3 3/ 4 55.2ﬁ6 26.64  104% ( 0.74)

25

2 FH S KSCTH 3 3/ 5 57.82 27.08 8k ( 0.71)
3 M E J—XAC H12 3/ 3 58.98 28.03 9% ( 0.76)
4 )W B J—=2XAC 2 3/ 6 59.76 27.88 8% ( 0.75)
5 %A RER J—XAC 13 3/ 1 1:00. 38 29.24  T#k ( 0.68)
6 KX MK KSCTH 1 3/ 7 1:00. 56 28.17  9fk ( 0.73)
T BRI TANT 4 A H13 3/ 2 1:02.94 29.93  68% ( 0.60)
8 ex R AR J—XAC 3 2/ 5 1:03.29 29.83 6% ( 0.70)
9 K¥ 0 KSCTH 13 2/ 3 1:03.95 30.49 6% ( 0.79)
10 7 S KSCTH 1 2/ 4 1:04.16 30.19  8#% ( 0.64)
11 AR KEA BkED 3 2/ 2 1:06. 42 31.21  4#% ( 0.84)
12 B —3% J—=2XAC 9 1/ 5 1:07. 69 30.64  Gf%k ( 0.71)
13 HAT AT KSCTH 1 2/ 6 1:08. 23 32.46 6% ( 0.65)
14 ANJT 3 HEF S C M 1/ 6 1:09. 28 32.41  6#% ( 0.69)
15 BEIRE M KSCH#F~ 3 1/ 4 1:09. 43 32.56 3% ( 0.79)
16 #H  JEEE KS C#ERE)II  H1 1/ 2 1:12.15 35.21 5k ( 0.77)
17 B R BEED H12 1/ 3 1:13. 61 34.44 1% ( 0.79)

No. 67 Z+ 100m BHF A LL—RREH REER 58.70

L CSHTIL—TF >

Bf. KK 4 i B 2E KK i 50m
1 EEFREGE T KSCTH = 2/ 4 1:01.19 28.76 9% ( 0.70)
2 B B BBED = 2/ 5 1:03. 65 30.52  8#k ( 0.75)
3 A 2 KSCTH =3 2/ 2 1:04. 01 31.23 Tk ( 0.67)
4 53R HH T AT 4 A E2 2/ 7 1:04.52 30.54 7% ( 0.65)
5 /bRy BER KSCTH =3 2/ 6 1:04. 83 30.90  TH: ( 0.72)
6 mE B TANRT 44 H2 2/ 3 1:05.43 30.97 Tk ( 0.77)
7 MHEZ &R KSCTH =3 1/ 5 1:05.93 31.22 6k ( 0.73)
8 H)& ME BkED = 1/ 4 1:06. 46 31.60  6f% ( 0.76)
9 iy P KSCTH =2 1/ 3 1:06. 53 31.36  68% ( 0.68)
10 Hhiy fhdE J—XAC = 1/ 6 1:11.62 32.73  4#k ( 0.76)
11 /NIBDY KSCTH =2 1/ 2 1:15. 62 35.08 2%k ( 0.68)
12 | 52 KSCTH =2 1/ 7 1:16.11 35.64 2%k ( 0.85)

No. 68 BF 100m Eef B A L L— R R RRESR 5420

L CSTIL—TF >

EhL K 4 T B 2E KE B 50m
1 HER EME J—XAC =3 3/ 4 55. 26 26.21 8% ( 0.66)
2 ExEEAER J—XAC =2 3/ 5 56. 82 26.78  8%% ( 0.66)
3 g e J—XAC =3 3/ 2 57.75 27.38 7#% ( 0.66)
4 SR &K KSCTH =3 2/ 4 58. 01 27.83  T#k ( 0.74)
5 ¥ & HEF S C El 3/ 3 58.07 27.87  T#k ( 0.59)
6 A K5 J—XAC =3 3/ 6 58.96 27.64 6% ( 0.65)

HAOBRME . 4H17TH 14:22
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WH @ 202244 H 178 (A) B RIER R—A H 7T — L (50m)

No. 68 BF 100m H e 84 LL—RRE 2RE 5420

L CSTIL—TF >

B K 4 & 2E KR B R 50m
7 HRH g2 HHEE S C Ll 2/5 59. 89 28.26  THk ( 0.69)
8 Ak VA KSCTH m2 3/ 7  1:00.06 28.62 6%k ( 0.68)
9 WEN  TEE HHF SC mml 3/ 1  1:00.45 28.39 6% ( 0.68)
10 )1 Hif KSCTH 32/ 2 1:01.97 30.39 5%k ( 0.87)
11 i Rl KSCTH &3 2/ 3 1:02.07 29.01 5%k ( 0.65)
12 NJT R HHF S C 2 1/ 4 1:02.53 30.06 5% ( 0.68)
13 BH Ak TART A F2 1/ 3 1:02.77 30.74 4% ( 0.74)
14 AR P KSCTH &3 2/ 6  1:03.81 29.50 4%k ( 0.73)
15 KE R F KSCTH 2 2/ 7 1:04.06 29.88 5% ( 0.74)
16 R K#t HAFSC il 1/ 2  1:05.54 31.86 4%k ( 0.62)
17 ZAR FHh HHEFSC = 1/ 5 1:05.63 30.52 4% ( 0.81)
18 M)l HREE HEFSC =l 1/ 7 1:06. 17 31.33 4%% ( 0.67)
19 k. Hink KSCTH 52 1/ 6 1:09. 46 32.63  2%% ( 0.85)

H AR 4H17H 14:22



